Name: Date:

Werite each sum. Add e H I
Tell which property is used,( l-l-lonq

L Properties J

examples:
([J-+5)+7=f6 8+ 2 =10
l+—+(5-r-7)=f6 2+ 8 =10
pr‘oper‘fy: associative pr‘operi‘y: commutative
J) 8+5+9+9= 8+9+5+9= 7) IOL:-+(28+12)= (IOL!-+28)+!2=
pr‘operfy: 'nr'oper'fy:
2) 7l+(26+25)= (7!+26)+25= 8) 77+ +7= 7+77 +blp=
property: property:
3) 59+63= 63+59= CI) 29+0+I= 1+0+29=
'ur‘o,uerfy: 'uroperfy:
'-f-) 2Z2+13= 13+22= IO) (27+67)+H= 27+(67+Jq)=
property: property:
5) 100+50+I1= 1+100+50= H) 8+5= 5+8=
'ur'o'uerfy: 'nroperfy:
6) (28+35)+7= 28+(35+7)= 12) CI+(5+I)= (‘1+5)+I=

Properfy:

Pr'oper‘iy:




